05596-10 W IR BRI E ] T8

7= miiEA

M
PC/ABS,

I
26, ABREXREFE,
B, g AeRBEXREIEE,

B

XEHESRITERARNEF |, THRA], FEIRPED,
BRHEMBTAENRYT , EATFEANITREE. B T8EMNEE> R
ReReH,

AT EWILF AP LIRS,

aRME (BRI ) - S UL94-HB Fir5l,
IZRITENRAHE - 2 Nm,

AR OBiE
B & : RAl8iE

EREA :
MHEF  FYABETIFNE , BATTHI . XRITE2E3BARMY
Eo A NEEREBM.

NA :

- BRETL

- BT EAR

- MU &

- FRAA R E R
- AR zE

-RETI

I :

1. REREFELZREYO,
2 EBREXE,

3. EAREDHEMNENEE,

HEEE

RERR , UREENRE (M5) MRRIREM/KERER,
XA BIER R EHEE 2 L5,
RIRZEHIFE (M5) REBSEHKEEN.

REER

1) 14K

2) ER

3)IEF

4) BREZHR

5) ZERRBE (BESNKHT)
6) R¥&=410

© norelem www.norelem.com



05596-10 TRV ERIHED] TEBN

@ g0
< Y\/
LD
AN
L h Y
= | X = X
EN e
2 2
L
]
_E "-sl
\
05596-10-2102356000 A | TBEN |B& | B® 28|60 40 | 52 |50 50 | 55 | 3541 | 35 | 4
05596-10-2107356000 A | WBEH |2 | 26 28|60 40 | 52 | 50| 50 | 55 | 3541 | 35 | 4
05596-10-2112356000 A | UBER |2& | 2® 28|60 40 | 52 |50 50 | 55 | 3541 | 35 | 4
05596-10-2117356000 A | WBEH | 2® | & 28|60 40 | 52 | 50| 50 | 55 | 3541 | 35| 4
05596-10-2102356022 A | WBEH | HAT | A& 28|60 40 | 52 | 50| 50 | 55 | 3541 | 35 | 4
05596-10-2107356022 A | TBEN BB | B® 28|60 40 | 52 |50 50 | 55 | 3541 | 35 | 4
05596-10-2112356022 A | WBEH | AT | A& 28|60 40 | 52 | 50| 50 | 55 | 3541 | 35 | 4
05596-10-2117356022 A | UBEM |B& | A& 28|60 40 | 52 |50 50 | 55 | 3541 | 35 | 4
05596-10-2102356033 A | TBER | K& | K& |28 |60 40 | 52 | 50| 50 | 55 | 3541 | 35 | 4
05596-10-2107356033 A | WBER | K& | K& |28 |60 40 | 52 | 50| 50 | 55 | 3541 | 35 | 4
05596-10-2112356033 A | TBUER | K& | K& 28|60 40 | 52 |50 50 | 55 | 3541 | 35 | 4
05596-10-2117356033 A | WBER | K& | K& |28 |60 40 | 52 | 50| 50 | 55 | 3541 | 35 | 4
05596-10-2102356001 A | TUBUER | B& |4 28|60 40 | 52 |50 | 50 | 55 | 3541 | 35 | 4
05596-10-2107356001 A | WBER | B® | %% |28 |60 40 | 52 | 50| 50 | 55 | 3541 | 35| 4
05596-10-2112356001 A | WBER | B® | %% |28 |60 40 | 52 | 50| 50 | 55 | 3541 | 35 | 4
05596-10-2117356001 A | TBUER | B |4 |28 |60 40 | 52 |50 | 50 | 55 | 3541 | 35 | 4
05596-10-2002356000 B | f~afle |26 | B | 28|60 40 | 52 |50 | 50 | 55 | 355 | 35 | 4
05596-10-2007356000 B | Fa8iE | B | 2@ 28|60 40 | 52 |50 | 50 | 55 | 355 | 35| 4
05596-10-2012356000 B | FafiE 2Bt | Bz 28|60 40 | 52 |50 | 50 | 55 | 355 | 35| 4
05596-10-2017356000 B | fafie |26 | Bf | 28|60 40 | 52 |50 | 50 | 55 | 355 | 35 | 4
05596-10-2002356022 B | F*a8lE | A | A® |28 |60 40 | 52 |50 | 50 | 55 | 355 | 35 | 4
05596-10-2007356022 B | f~a8lEe HAE& | A | 28|60 40 | 52 | 50| 50 | 55 | 355 | 35 | 4
05596-10-2012356022 B | *a8E | A | A& |28 |60 40 | 52 |50 | 50 | 55 | 355 | 35 | 4
05596-10-2017356022 B | Fa4E | A& | HE® | 28|60 40 | 52 (50| 50 | 55 | 355 | 35| 4
05596-10-2002356033 B | FaBlE | K& | K& | 28|60 40 | 52 |50 | 50 | 55 | 355 | 35 | 4
05596-10-2007356033 B | FABE | K& | K& | 28|60 40 | 52 |50 | 50 | 55 | 355 | 35 | 4
05596-10-2012356033 B | TaBE | K& | K& | 28|60 40 | 52 |50 | 50 | 55 | 355 | 35 | 4
05596-10-2017356033 B | FaBlE | K& | K& | 28|60 40 | 52 |50 | 50 | 55 | 355 | 35 | 4
05596-10-2002356001 B | FASE | B |44 | 28|60 40 | 52 50| 50 | 55 | 355 | 35| 4
05596-10-2007356001 B | faBlEe | B @ 28|60 40 | 52 | 50| 50 | 55 | 355 | 35 | 4
05596-10-2012356001 B | FaBE | B | #2860 40 | 52 |50 | 50 | 55 | 355 | 35 | 4

© norelem www.norelem.com




05596-10 W IR BRI E ] T8

05596-10-2017356001 B FRIBE | 2@ | ¥4 |28|60 40 | 52 |50 | 50 | 55 35,5 35 | 4
05596-10-2102356000 A i 22|26,1 23|39,2|14|42,9/3,8/12,7|7,2 270 50 -30 bis 60 2-7 M5X16
05596-10-2107356000 A i 22126,1 23|39,2|14142,9|3,8/12,7|7,2 270 50 -30 bis 60 7-12 M5X20
05596-10-2112356000 A %é' 22126,1 23|39,2\3,8/42,9|3,8/12,7|7,2 270 50 -30 bis 60 12-17 M5X16
05596-10-2117356000 A i 22126,1 23|39,2\3,8/42,9|3,8/12,7|7,2 270 50 -30 bis 60 17-22 M5X20
05596-10-2102356022 A I% 22|26,1 23/39,2|14|429/3,8/12,7|7,2 270 50 -30 bis 60 2-7 M5X16
05596-10-2107356022 A I% 22|26,1 23|39,2|14|429/3,8/12,7|7,2 270 50 -30 bis 60 7-12 M5X20
05596-10-2112356022 A I% 22|26,1 23/39,2|3,8/42,9/3,8/12,7|7,2 270 50 -30 bis 60 12-17 M5X16
05596-10-2117356022 A I% 22|26,1 23/39,2|3,8/42,9/3,8/12,7|7,2 270 50 -30 bis 60 17-22 M5X20
05596-10-2102356033 A iﬁli 22|26,1 23/39,2|14|429/3,8/12,7|7,2 270 50 -30 bis 60 2-7 M5X16
05596-10-2107356033 A ﬂé’ 22|26,1 23|39,2|14|42,9/3,8/12,7|7,2 270 50 -30 bis 60 7-12 M5X20
05596-10-2112356033 A ﬂé’ 22126,1 23|39,2\3,8/42,9|3,8/12,7|7,2 270 50 -30 bis 60 12-17 M5X16
05596-10-2117356033 A 52 22126,1 23|39,2\3,8/42,9|3,8/12,7|7,2 270 50 -30 bis 60 17-22 M5X20
05596-10-2102356001 A ?é 22126,1 23|39,2|14142,9|3,8/12,7|7,2 270 50 -30 bis 60 2-7 M5X16
05596-10-2107356001 A %Z 22126,1 23|39,2|14(429/3,8/12,7|7,2 270 50 -30 bis 60 7-12 M5X20
05596-10-2112356001 A ’ﬂé 22|26,1 23/39,2|3,8/42,9/3,8/12,7|7,2 270 50 -30 bis 60 12-17 M5X16
05596-10-2117356001 A 2}% 22|26,1 23/39,2|3,8/42,9/3,8/12,7|7,2 270 50 -30 bis 60 17-22 M5X20
05596-10-2002356000 B %, 22|26,2 23|39,2|14|429/3,8/12,7|7,2 270 50 -30 bis 60 2-7 M5X16
05596-10-2007356000 B %, 22|26,2 23|39,2|14|429/3,8/12,7|7,2 270 50 -30 bis 60 7-12 M5X20
05596-10-2012356000 B % 22|26,2 23|39,2|3,8/42,9\3,8/12,7|7,2 270 50 -30 bis 60 12-17 M5X16
05596-10-2017356000 B % 22126,2 23|39,2\3,8/42,9|3,8/12,7|7,2 270 50 -30 bis 60 17-22 M5X20
05596-10-2002356022 B %’ 22126,2 23|39,2|14142,9|3,8/12,7|7,2 270 50 -30 bis 60 2-7 M5X16
05596-10-2007356022 B %, 22126,2 23|39,2|14142,9|3,8/12,7|7,2 270 50 -30 bis 60 7-12 M5X20
05596-10-2012356022 B Eé 22126,2 23|39,2|3,8/42,9/3,8/12,7|7,2 270 50 -30 bis 60 12-17 M5X16
05596-10-2017356022 B I% 22|26,2 23|39,2|3,8/42,9/3,8/12,7|7,2 270 50 -30 bis 60 17-22 M5X20
05596-10-2002356033 B 9; 22|126,2 23|39,2|14|429/3,8/12,7|7,2 270 50 -30 bis 60 2-7 M5X16
05596-10-2007356033 B ﬂé 22|126,2 23|39,2|14|429/3,8/12,7|7,2 270 50 -30 bis 60 7-12 M5X20
05596-10-2012356033 B ﬂé 22|26,2 23|39,2|3,8/42,93,8/12,7|7,2 270 50 -30 bis 60 12-17 M5X16
05596-10-2017356033 B ﬂé 22|26,2 23|39,2|3,8/42,93,8/12,7|7,2 270 50 -30 bis 60 17-22 M5X20
05596-10-2002356001 B |4 |22(26,2 23|39,2|14|42,9|3,8/12,7|7,2 270 50 -30 bis 60 2-7 M5X16
05596-10-2007356001 B ‘g 22126,2 23|39,2|14142,9|3,8/12,7|7,2 270 50 -30 bis 60 7-12 M5X20
05596-10-2012356001 B %: 22126,2 23|39,2\3,8/42,9|3,8/12,7|7,2 270 50 -30 bis 60 12-17 M5X16

© norelem www.norelem.com




05596-10 HriZH BRI E Y MBR

11 F1 C B4 mm

05596-10-2017356001 | B | 23, 913, 717, -30 bis 60 17-22 M5X20

© norelem www.norelem.com



